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Part - 111
MATHEMATICS, Paper - II(B)
(English Version)

Time : 3 Hours) [Max. Marks : 75
Note : This question paper consists of three Sections - A, B and C.
SECTION - A 10 <« 2 =20

I. Verv Short Answer Type questions.
(il Answer any ten questions.

(ii) Each question carries two marks.

1. Find the equation of the circle passing through (2, -1) having

the centre at (2, 3).
2. 1fx®+y3-4x+ 6y+c =0 represents a circle with radius 6, then

find the value of c.

3. Find the value of k if the points (1, 3) and (2, k) are conjugate
with respect to the circle x3 + y3 = 35,

4. Find the chord of contact of (0, 5) with respect to the circle
X2+yd-5x+4y-2=0,

5. Find the angle between the circles x@ + y2 + 6x- 10y - 135 = O
and 3 +y3-4x+ 14y =116 =0,
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11.

12.

13.

14.

15.

0293

Find the common tangent of the cucles 2 +yv2e0r-2y+22=0
o

and 13 ¢+ y’ + 2x =8y * B - 0 at their pomt of contact.

Find the equation of the parabola whose vertex is {3, -2) and focus is

(3. 1).

If the eccentricity of a hyperbola is 2* then find the eccentricity

of 1ts conjugate hyperbola

1 1
E t + dxon (-1, 1}.
“Juacj[l-x’ I+x’]

Evaluate _[[x‘ - 23+ 3)dxonR.

-1

c[ﬂf‘l X
Evaluate I 3 dxonl c (0, =).
1+ x
2
Evaluate I 3x r dxon R.

1+x

5
Evaluate I (x+ 1) dx.
0

Evaluate [[2+2cos6) do.
o

Find the order and degree of the differential equation
]

2]
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SECTION - B ESx4an=

1. Shon ANswe Iy pre uestions
(1) Answer am five questions
(m Each QUESTION Cargpes four Miarks
J6. I the I ngth of the Langent from, (2. 5) 1o the circle 3@ + y3 - 5x 4

A +k=0,;s v37 then find k

17. Find the pole of 3y + 4V ~45 = 0 with respect to x2 +y3-6x-8y
+5=0.

207 Show that the circlesx3+y’-8x-2y+8-03ndx"+y3-2x+
6y + 6 = 0 touch each other and find the point of contact.

21. Find the equation of ellipse in the standard form if jt passes
through the points (-2, 2) and (3, =1).

22. Find the equation of ellipse in the standard form whose distance

from foci is 2 and the length of latus rectum is —12—5-

SECTION - C

[II. Long Answer Tvpe questions.
() Answer any five questions.

1) Each question carries seven marks.

- L 3.
~8. Find the equation of the circle passing through the points |(

(3. 2) and (1, 4).

. , o dY  xy+y
, tion —=22"J
40. Solve the differential equa dx xy+x

. d
27. Solve the differential equation -Jxl =eX-Y 4 3oy
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SECTION-C
(II. Long Answer Type questions.
() Answer any five questions.

() Each question carries seven marks.

<% Find the equation of the circle passing through the points {3, 3,
(3. 2)and (1. 4).

=2 Find the length of the chord intercepted by the circle

2 +v2_ v+ 3v-22=0o0n the line y=x-23.

}0 Find the equation of the circle which touches the circle

x2+y2-2x-4y-20=0 externally at (S5, 5) with radius 5.

}A/ Find the equation of the circle passing through origin, having
its centre on the line x + y = 4 and intersecting the circle
R+y3_4x+2y+4=0 orthogonally.

32. Derive the equation of the parabola in standard form.

x
33. Evaluate I{ “-b )

axp® dx,(a>0,a=1,b>0, b=1)onR.

34. Evaluate J‘{ 3}1' 5
X + VX +

dxon I c (-2, )

33. Evaluatej' 3 dx on

cos® x ~sin2x

. x ] .
I:R—{k{2n+1]§,neZI u{2nn+tan‘1%.nez}.

s

36. Evaluate jlog (1 + tan » dx.
o

37.

Solve the differential equation -g—i- = tan? (x + y).
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